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L. ROFEXE [ |HOXLFITONTHE LI,

(1) dz+3y=12 [y] (2) 5z +3y=10 [y]
(3)3z—2y=15 [y] (4) 4z -3y=9 [y]

(5) —x+3y=15 [y] (6) 2z +5y=6 [y]
(7) —z—5y=12 [y] (8) =3z —Ty=14 [y]

2. OHELE [ | NOLFIZHONWTHE R,

(1)5:%% [a] (2)V:%h5 (]

(3) V:%abc le] (@) S:%abc (5]
M. KOBRAE [ NOXFIC oL TRE RS,
()a=40b+c) [b] (2) z=3y+2) [yl
B y=5(z-=) [z] (4)b=2(-a+c) [c]
6) V=" [b] ©)5="2" [b]

(7) :a—b—l—c [ ] (8)V_$—y6+22 [ ]
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HE 1. ROEXE [ JNOLFIZONWTRHEE eI,

)7z +2y=14 [y] (2) 6z +5y=12 [y]
(3)2z—-5y=12 [y] (4) 6z —Ty=14 [y]
(5) —x+4y=16 [y] (6) =bx+2y=15 [y]
(7) —z—2y=11 [y] (8) =6z —3y =14 [y]
HE2., WOEXE [ [JHNOLFIZONTHE I,

(1)5:}11);1 ] (2)V:éxy (2]
B)V =gz [y] @V =S [r]
BB 3. KOmE [ | AOLFICSNTRE RS,

(D a=6(b+c) [c] (2)z=5@+z) [y]
B)b=2a—-c) [c] 4)z=5(-z-y) [y]
G s="7" [y] O v=" 1y
my_tThme ) P e
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(y=—3e+4 Qy=-u+y Gy=sr-2 (@)y=;r-3
G)y=zr+45 O y=so+s (Ny=-zr-- @ y=-or-2
e 2.

Ma=2 @n=2% @e=2 @Wi=2

AR 3

(1)b:ia—c (2)3/:%:5—2 (3)x:—%y+z (4)c=a+ =b
(B)b=—a+3V (6)b=a—6S (7)c=—atb+3m (8)22—%3:—%3;-1-31/
HE 1

(y=-g2+7 @Qy=-cetp @y=ze-+ @Oy=zc-2
G)y=qe+d O y=se+y (y=-yo-o Hy=-2--
59 2

Wr=5 @e=2" -1 Wr=1g

fHE 3

(1)c:%a—b (Q)y:%x—z (3)c:a—%b (4)y:—x—%z

B)y=4S—z B)y=-3V+z (c=a—-b—-6V (8)b:—%a—|—gc+25



